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15. (1) fif: Jﬁzﬁ=1—6x§+4+\/§—1

=4—3
(2) f#: x2—x—6=0
(x—3)(x+2)=0
Jox1=3, x0=—2
16. (1) H{EE%N: AB=AF, /BAE=/FAE
. AE L BF, BO=OF
~.AE A BF 4L
~.EB=EF
N.*" AF //BE
.. /BEA=ZFAE=_BAE
.. AB=EB
.. AB=AF=EB=EF
s Uil e ABEF NZETE .
(2) B (1) %1: AE_LBF, BO=OF
" BF=5
~.BO=3
N AB=5
~.AO=VAB? — B0?=4
S AE=2A0=8
17. (1) “JH AC BN 1: V3.
S ZBCA=30°

AC=—""—<6m

sin30°

(2) ' ZBCA=30° , /DCE=60°
S ZACD=90°
XA S D SN 30°
S ZDAC=30° +30° =60°
~.DC=ACXtan60° =6v3m
~.DE=DC Xsin60° =9m

2. (1) AC KA 6m;
(2) DE @A 9m.

18. (1) W&

1 1 cdxrsldl 4000-121-121



11 4000-121-121

(2) e 4 RN A, Az, B, By (L Ay, AU £8E; Bi, B i)

AMKAPT: 5

A\ A~ & B

N\
é:/ZTE} éTITE» éﬁi?gyé?hhgl

TR RA: AlA2, A1Bi, ABa, AsA1, AoBi, AxBz, BiAj, BiAx, BiB2, BAp,
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19. (1) A(—=24) B 4, —2)
Solag: y=—x+2
(2) #H (1) N (0,2)

. °P( - N, — A 3 )

SAA()B:SAAON'FSAB()N:%X 2X 2+%>< 2 X 4=6

(3) x<—2 8, 0<x<4
20. (1) B&%n: LACB=-/ADB
N ZBEC=/AED
s ABEC«> AAED
AE DE
~.BE * ED=EA * EC
(2) ig ZADB=./ACB=qa
#%#: OB, i OB=0D
. ZOBD=./0DB=0
~ ~
X AB=BC
s AB=BC
S /BAC=/BCA=a
s AABC«» ADOB

. BC_AC
‘“0B BD

~.BC - BD=0OB * AC

OB:%AD

“.BC - BD——;AD < AC

Bi: AD * AC=2BC * BD #4iIF

(3) KL AOZZOO T A T, %EH TC, TD
VAT NEAR
S ZACT=90° , LADT=90° , H AT=2A0=8
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. Z/BDC=/TCD

~.BC=TD=4

S E RtAADT 1. AD=VAT? — TD?=4/3
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25. O143V5:  @b=—3 8=

26. (1) y=—10x2+130x+2300

(2) H (1) y=—10x>+130x+2300=2520
fif4s . x1=11, x2=2
CEMAET 40 T, Sox=2
SR 32 o, FESH 2520 JT.

(3) H (1) y=—10(x—6.5)*+2722.5

VX ONEEEL Sox=6 1 7 i, FlEE K N: 2720 0
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27. (1) iIEF/J% ABCD = AO=OB
[AOLOB = /OBE= . OAF ]
AG_LBE } ~ AOF=.BOE=90°

= AAOF< ABOE(ASA) = AF=BE
(2) % ABCD = AC L BD = /EBO=/EAG
AG_| BE } ~/ AOF=/EOB=90°

. o AF_0A_
S AEOB«» AFOA = FEROY V3

(3) 3%J£ ABCD =AC1BD ] = ZEBO=/EAG i|
AG_LBE ZEBO=/FDA=90°

. o AF_0A
S AEOB«» AFOA=> o tAna
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28. (1) A (0, 3> B 4, O

RN y=kx+b 5 y=mx2—%x+n
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m=1 n=3

SRR y=—3x43 ) y= X xA3

(2) ®N (a, —%a) M (a, az—%ﬂ)

. _ 3 4 2 19
S MN= 4a+3 a’——a 3
=—a’t4a
=—(a—2)*+4
Ma=2 B}, MNmnx=4
(3) WAAOB«> ANQO
NQ_3 NQ_4
Q0 4 Qo0 3
—%a+373 —%a+374
a 4 a 3
- _36
3at+12=3a a=o
A=2
3 36 48
Nl (2, E) N2 (Ev E)
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